
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

지수의산술 ( 음의지수 )

6 + 9 =(−1) 9 − 4 =2

9 + (−1) =2 2 + (−7) =(−1)

3 − 7 =(−2) (−6) + 3 =2

(−1) − (−1) =2 (−4) − (−5) =(−2)

10 − 10 =(−2) 6 + 1 =2

8 + 2 =2 1 − (−8) =

9 + 6 =2 2 + (−8) =(−1)

(−10) − 10 =(−1) (−2) − 6 =(−1)

2 + (−5) =(−1) (−9) + 2 =2

(−3) + (−9) =(−2) (−3) − 3 =2
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

지수의산술 ( 음의지수 )

6 + 9 = = 9(−1)

6
55

6
1

9 − 4 = 772

9 + (−1) = 802 2 + (−7) = (− ) = (−6 )(−1)

2
13

2
1

3 − 7 = (− ) = (−6 )(−2)

9
62

9
8

(−6) + 3 = 392

(−1) − (−1) = 22 (−4) − (−5) = = 5(−2)

16
81

16
1

10 − 10 = (− ) = (−9 )(−2)

100
999

100
99

6 + 1 = 372

8 + 2 = 662 1 − (−8) = 9

9 + 6 = 872 2 + (−8) = (− ) = (−7 )(−1)

2
15

2
1

(−10) − 10 = (− ) = (−10 )(−1)

10
101

10
1

(−2) − 6 = (− ) = (−6 )(−1)

2
13

2
1

2 + (−5) = (− ) = (−4 )(−1)

2
9

2
1

(−9) + 2 = 832

(−3) + (−9) = (− ) = (−8 )(−2)

9
80

9
8

(−3) − 3 = 62
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